Expanded column method

. 326 + 647 =
. 255 + 561 =
. 464 + 339 =
.633+174 =
. 726 + 256 =
. 287 + 677 =
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7. A factory makes fireworks. On Monday they made 462
fireworks and on Tuesday they made 375. How many
did they make in total?

8. There were 247 adults and 333 children at a firework
display. How many people were there altogether?

9. At a firework display, a charity raised £485 from ticket
sales and £277 from selling food. How much did it raise
in total?

Challenge — Write a word problem for the addition 528 +
364.



